Question Paper Name:
Subject Name :
Creation Date:
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Section Id :
Section Number :

Section type :

Nnta

B TECH EK 25th Feb 2021 Shift 1
B TECH EK

2021-02-24 14:12:08

180

90

300

Yes

B TECH EK

1
708191194
0

180

No

No

300

No

Physics Section A

708191742
1

Online Qcollegedunias
India’s largest Student Review Platform

~
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911022
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819118034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[
Mmass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819159251, Both A and R are correct and R is the correct explanation of A

70819159252, Both A and R are correct but R is NOT the correct explanation of A
70819159253. A is correct but R is not correct

70819159254. A is not correct but R is correct

Question Number : 1 Question Id : 70819118034 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qco”egeduniaé
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3UR QRMT 0D BewInYY LOT, Pt Aﬁ:&gocﬁsi:% 50 R 2000 SR0XAT.
P A 7B AR B I Qalecdme den wodde 8hd. 800 AR B rish wITRS
md BroOE.
®TH R : eNY Tod WP, FunY ey wode ShID. MR = MR,
Ded m-'wsmﬂsr% dﬁaﬂ:@__&;&m& gort deuitha eoﬁ:ﬁ@@__ T, RO0RE YOZT[D, SOA.
Options :
=, - =, S o z +

ATH3 R 20RR =0 =0 AR R m0oind azmvmobho.
70819159252. - s

70819159253.

70819159254,

Question Number : 2 Question Id : 70819118035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT1]
(b) E (kinetic energy) (i) [MLZT™ ]
(c) V (electric potential) (i) [ML2T-2
(d) P (linear momentum) (ivy ML21-1T-9

Choose the correct answer from the options given below :
Options:
70819159255, (@) — (1), (b) — (ii), (¢) — (iv), (d) — (iii)

20819159256, (@ — (i), (b) = (iv), (c) — (ii), (d) — (i)

70819159257 (a) — (ii), (b) — (iii), (c) — (iv), (d) — (i)

Jog19159258, @ = (i), ®) = (i, (©) = @), () = () Qﬁﬁlli%iﬁ[&:ﬂ:if
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Question Number : 2 Question Id : 70819118035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teg -1 T dr3i =y - 11, BRODA :

Wed -1 =y - 11
(a) h(sRosI }T203) i) [MLT™Y
(b) E(®B0" I3) (i) [ML2T-1]
(€ V(mZF 2g=) (i) [ML2T-2
(d) P(Sedeod Rozden) (iv) [MLZI-1T-9
B8 5YN BRLTD eoﬂ:;ﬁﬂé-g plelevvping w%ﬁ'a"cﬁ:& =0A.
Options :

20819159255, (@) = (i), (b) — (ii), (c) — (iv), (d) — (i)
20819159256, (@ — (i), (b) — (iv), (¢) — (ii), (d) — (i)
20819159257 (@ = (1), (b) = (iid), (¢) = (iv), (d) — (i)

70819159258, (@) — (iii), (b) — (i), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819118036 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

¢ ]
70819159259, 16 m/s

70819159260, T ms Z
gcollegedunias
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70819159261, 08 ms™ <

2 2
70819159262, 2T mS

Question Number : 3 Question Id : 70819118036 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q0B DeLIot &fc-:[:;_ld A0% CRrOIT SR3F 7O 25, GROT oS S.HM. x;;’dga’
[oleve) ﬁeﬁﬁ:f:u;mm :

Options :

i )
70819159259, 16 m/s
70819159260, T ms Z

70819159261, 28 ms— <

2 2
70819159262, 2T mS

Question Number : 4 Question Id : 70819118037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :

70819159263, 0-0 €™M

collegedunia:
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70819159265, 148 cm

70819159266, 1> €M

Question Number : 4 Question Id : 70819118037 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BN00RT BRFR mf*ﬂm'x W) mmc’g?w SRBID, Noeu BRTHOD ?n 6 %O.0¢.
AT, 53-:-’:303: em @o:a:,: )[H Hz. ar&: @ T :54,3553 uaum =@ 336 mh SRvleln]
moau ﬁrm DD ELEJH ?‘%IEU*"S cuu-ic'% piTelALN %Ci 3.."‘:5 ONe BTN LLoLTTN
.T'[\-Jp 2.4531 edw :L&MCS mecQ

Options :

70819159263, 10:6 F0.<0¢
70819159264, 184 H0.&0¢

70819159265, 14.8 F0.a0¢.

70819159266, 1 HO-&R¢.

Question Number : 5 Question Id : 70819118038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In an octagon ABCDEFGH of equal side, what is the sum of

e T S
AB +AC + AD + AE + AF + AG + AH,

— A A M
if, AO=2i+3 -4k

A B
H &
G D
F E
Options :
70819159267, 101124 j+32k
_ A ~ e
70819159268, — 16124 j+32k

M A A
70819159269, 16124 j+32k

; A My Al
70819159270, 101 +247-32Kk

Question Number : 5 Question Id : 70819118038 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
— M M Y
ADRINORT w.ow wRBRemyd ABCDEFGH o029, AO=2i+3j-4k a0

o -
ABlACl%DlAEl%Fl%LlAH ny o2 o 7

Options: Qcollegedunias
India’s largest Student Review Platform
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167 +24 j+32k

70819159268, — 16124 j+32k

70819159269, 161 24 j+32k

. -":'-_ ’ ,f-:_ . _,:‘
70819159270, 101 +247 32k

Question Number : 6 Question Id : 70819118039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at height
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time periods of Aand B respectivel}-' then the value of TE_—Trgk :

[ Given : radius of earth=6400 km, mass of earth=6x 10* kg |
Options :

3
70819159271, 1-33x 107 s

; 3
70819159272, +24x107 s

Wi
70819159273, +:24x 107 s

"} °
70819159274, >-33 X107 s gcollegedunlas
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Question Number : 6 Question Id : 70819118039 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
N 600 km & 1600 km STCHY Pood MW 200kg @ 400kg Té0D A DD

(38T : geaod &k,=6400 km, FRa0D Tod=6x10kg)
Options :

3
70819159271, 1-33x10° s

] ; 3
70819159272, +24x107 s

3
70819159273, +:24x 107 s

)
70819159274, >-33x10%s

Question Number : 7 Question Id : 70819118040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819159275, ~ U2 A
70819159276, ~ U043 A
70819159277, ~ 086 A
70819159278, ~ 12 A

Question Number : 7 Question Id : 70819118040 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X 3 Y Domny S@d wom 5V iRpudoki, Ae0AT. D) ) D, Nt Wawd, AR
BOSREENH QO GRAATRN, RBOCH TT BDOOLI®, X Lomn AATO WRLOWWOT
ATWTRT ANFTZT)
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~f3 A

70819159275.
70819159276, ~ 043 A
70819159277, ~0-86 A
70819159278, ~ 12 A

Question Number : 8 Question Id : 70819118041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement II : The side band frequoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819159279. Both Statement I and Statement 11 are true

70819159280. Both Statement | and Statement 11 are false
Statement 1 is true but Statement 1I is false

70819159281.

70819159282. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819118041 Question Type : MCQ Option Shuffling : Yes Is

[
Qcollegedunlas
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819159280.

70819159281
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Question Number : 9 Question Id : 70819118042 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.

Reason R : On heaﬁng, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819159283

70819159284.

70819159285.

Both A and R are true and R is the correct explanation of A

A is true but R is false

A is false but R is true

70819159286.

Both A and R are true but R is NOT the correct expla_naticrn of A

Ld
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Question Number : 9 Question Id : 70819118042 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TYN ARWT TR TETINTY mda’:ﬂl Poarze A:i:&fiodsi:% O R Q000 TRORCAT.
T A1 AZ0TmON WY oW ACYE), TODATEN, $U0Y IR o) LB
uotRMFH0Y.
%0 R: TOWATIN, AOTS 0T TELIT.
DT DeTINYR, B RODYLDZLOMB gehT SobnYY FORE LTI, SOA.

Options :

0819150283, A B R oT@e 30 I A & 00k 2T R.
A3ID R 0AR 750 =88 AN R A003nT L=0m0he.

70819159284 ~ )

70819159285, & O S0 R 33,

70819159286, 5%, WU R 70

Question Number : 10 Question Id : 70819118043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= o« respectively for the given circuit is :

51} 5}

M

11} 4 1)

Options :
18E SE

EE r ﬁ o
70819159287 gcollegedunlas
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5E 18E
70819159288, 18 55

106 SE

70819159289, -o 18

'5E 10E

70819159290, 18 33

Question Number : 10 Question Id : 70819118043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BRLIE WOBVTY TY L=0J 1= > SN AWTTWD (1) :

51} 5

Options:
18E 5E
70819159287, 2> 18
5E 18E

70819159288, 18 55

106 SE

70819159289, - 18

'5E 10E

70819159290, 18 33
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Question Number : 11 Question Id : 70819118044 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819159291, 1-64 mm
70819159292, 0-90 mm

70819159293, U-82 mm

70819159294, 1-80 mm

Question Number : 11 Question Id : 70819118044 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FBeod Aeo' wed 100 QRNndsSy, W& 1 mm LB, DLW Egﬁfﬁ‘ Q0. W0

DRENY IBD J&a‘lc'i:% QORI F oD 5;6-5‘35 3RRH) e nooR 8Ny YT,

DRENY IR WO @oéﬁ&p&mﬁ RRTO Tedeod Qgan AN NeeERIT LoIolbe

ERew rg;@f 8 728 Qpngy) evge) ﬁa’c&a’;{ BOQTMITIRET 3080D & :

Options :
70819159291, 1-64 mm
70819159292, 0-90 mm

70819159293, U-82 mm
gcollegedunlas
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70819159294, 180 mm

Question Number : 12 Question Id : 70819118045 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An a particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
tMmmdnkBmgmwwdmyMamhﬁmdﬁgmgﬂwﬁyﬂmmﬂof—E:
iy

Options :

70819159295, 2.8

70819159296.

=1
oo

70819159297.

70819159298, -8

Question Number : 12 Question Id : 70819118045 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
200V Q030000 D30I wom o - 30 SHE) wom HRtRIT e, SRegmFievAmn,

A
DTN CJNY B D)) I0OMROIT A, WH A, ShRHRTT h—P T UMmId Raedd
i = i}
Options :

70819159295, 2.8

70819159296, °©

[
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70819159297, /-8

70819159298, -8

Question Number : 13 Question Id : 70819118046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iig_ht sOUrces having intensity in the ratio 2x producr_- an interference pattern.

L. —-L.
The ratio 222 T il be :
max | min
Options :
A 2x
D]

70819159299, =¥ *+1

70819159300.

70819159301, * 11

]

J2x
70819159302, **+1

Question Number : 13 Question Id : 70819118046 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
QU@ ROAT LY3T CTONY e R 2r SN 2000 #9300 TMATKODTY, YLODERATO

| I fl
max min @mma% :

max | Imin

Options : Qcollegedunias
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70819159299, 2*+1

70819159300, 2**1

Jx
70819159301, **+1

2.5x
70819159302, *+1

Question Number : 14 Question Id : 70819118047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options:
u+to

70819159303, 2

70819159304.

|
70819159305. \

70819159306. \1

[
Qcollegedunlas
India’s largest Student Review Platform

~



Question Number : 14 Question Id : 70819118047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rqoza;—r?pﬁm% ATAT rﬁfsmc%ﬁdg BOBINT Dfm QOBRT ‘U dencdeodn B
Lioieniino vl iy iaolelaTy s pmite Aol e Taevvainte UJ:JF.‘J EOVAkADT T ﬁoﬁ;—ﬁam@

TDITRME Senw)

Options :
Hu+uv

70819159303, 2

70819159304.

|
70819159305. \

=]

70819159306. '.d

Question Number : 15 Question Id : 70819118048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is _ _ and their speed is
, in the ratio.

Options:

2

70819159307. 421 and 2:1:1

I~
fa

70819159308, 2 1:land 4:

=l
2

70819159309, 1:2:4and 1:

[
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T
70819159310, 2 4and 2:1:1

Question Number : 15 Question Id : 70819118048 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LOM ATOLT TOIFITEY L0 TLLEERT, WO FIXTIT W3 LoD a- TN 10T
rosendy BIMIBIRTT, LPYnY e BT Todeod WONY LDTIY

:}33_3‘ “PYNG =00 WSy ., i"-:éi,‘&ﬁ Eﬁ:ﬁt}_
Options:

i =l s )
70819159307, - = 1893 2:1:1

o . ey ey 3

70819150308, ‘7 & r AENAY &k |

s m—n, v, >
70819159309, HEafEmEL £AR 54

3
2
5':}.
[}

1:2:4 83
70819159310. =

Question Number : 16 Question Id : 70819118049 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :

70819159311, 01 m

70819159312, V1o m

70819159313, U-2 m

[
Qcollegedunlas
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70819159314, 1.0 m

Question Number : 16 Question Id : 70819118049 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

B de0n DWIOD FeoBNOT $TT 3T Hed 0.05 m W) 0.2 mTHTT T OB
TOTFENY OIS 8: 16T0, DOTOD )

Options :
70819159311, 01 m
70819159312, V1o m

70819159313, V-2 m

70819159314, 1.0 m

Question Number : 17 Question Id : 70819118050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=6012
AN

15V
f= {
c—py K-8 Lg20V

o1

Options :

70819159315, 1-33 H and 230 uF Qco”egeduniag
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70819159316. 1.33 H and 150 pF

70819159317, U8 Hand 150 uF

2 3
70819159318, -8 H and 250 uF

Question Number : 17 Question Id : 70819118050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wom L-CRaoBond modmrod JmFs swedeod s dosn 100 rad/s sha.  $3wg

3ncdathuod ;@uaﬁmﬁ ZeoRoRhtosntd, Rodvod Heosd D PO FUTE0MW :
R=60 {}

AWM

15V

=gy X400 Lg20V

o1
o

Options :

“%’% - oy, ', :2._' :| :
70819159315, 132 H#033 250 uF

1.33 H =3y 150 pF
70819159316. =

70819150317, 08 H 5033 150 uF

0.8 H &3 250 uF
70819159318. =

Question Number : 18 Question Id : 70819118051 Question Type: M~~~ ==~ ~=° °™ "

Is Question Mandatory : No .
collegedunia:s
COrrect Marks : 4 Wrong Marks : 1 India’s largest Student Review Platform
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-

7 5
A diatomic gas, having Cp =§R and CV:ER' is heated at constant pressure. The ratio
dU:dQ:dW:

Options :

=1
(=]

70819159319, 2:

70819159320.

70819159321.

70819159322, 2:7:3

Question Number : 18 Question Id : 70819118051 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 O - M

B i ateaeine RS i v, Dichie g it G g
Cp=-R B3 Cy=2R &p000T w00 QETSRED SRoT, 40 L3ATQ REWAEA,
dU: dQ: dW smhands) :

Options :

.,
I

70819159319, 2:7

|
-2

-
70819159320.

70819159321, -

.,
L

70819159322, 2 :7

Question Number : 19 Question Id : 70819118052 Question Type : M
Is Question Mandatory : No Qcollegeduniag
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Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N, and N, nuclei respectively. Half life
of Xis half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio L will be equal to :
Na

Options :

r--=|=,.-.1-.

70819159323.

»..-Jlr-i'

70819159324. -

|-—i|!33.

70819159325.

70819159326, B

Question Number : 19 Question Id : 70819118052 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X DY 20w 0B D3Tpdew IRAD D0 FHIN N DR N, 300519,

BR00E. X 3 smRrol Y 3 ¢mrolnd ¢prdas. Y 3 St sgeronne 3o3d,

SOES RaJobT e FHRMISRTS, % YD

Options:

r--*|=._.-.l.

70819159323.

L..-Jlr-a'

70819159324,

8
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o | =

70819159326.

Question Number : 20 Question Id : 70819118053 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere of radius R gravitationally attracts a particle placed at 3R from its centre with

R
a force F,. Now a spherical cavity of radius I r | is made in the sphere (as shown in figure)
o \ -—_.Jl

and the force becomes F,. The value of F, : F, is :

Options :
70819159327, 1190
70819159328, 20 * 41

70819159329, 26 : 25

70819159330, = °

Question Number : 20 Question Id : 70819118053 Question Type : MCQ Option Shuffling : Yes

[
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819159327, 1150

70819159328. o

70819159329, 26 : 2

70819159330. o

Physics Section B

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :

Sub-Section Number :

708191743
2

Online
Mandatory
10

5

20

Yes

[
Qcollegedumas
India’s largest Student Review Platform
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Sub-Section Id :

Question Shuffling Allowed :

7081911023

Yes

Question Number : 21 Question Id : 70819118054 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If cnntainor is suddenly stopped then change in temperature of the gas

X
(R=gas constant) is R Value of xis ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819118054 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

BIRTT FOMTEEY 40 uTadod FHT[REN YIVTIR0AT. 30 m/s ﬁmd-*_“) BOMIT =

HOMRB TN, OTMN ANENRPATT &
B0, 1 3 WO
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id

OTE WTT RTDRR) _R (R-20© 30203)

l\-’
% [ZJ

collegedunia:s
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Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of this drop is _ "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118055 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2V cnz::'j'é @& 512 030ed0d mm Nm Sln@;a, HRINRTACOAD. O DT TSR
Y & 33?1%'51 BRODABNTOINTS, & Tod PIH @“f{.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118056 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes QEC“G??C}UT?

~



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819118056 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
V=3t peet (1Y Lo Aedor'TQn) dpederr’ wthE wom ATWoND $ETE Tones=Ad
OART R0QWE 2H Hedsgod t.om AW A0AT. 1=0TmN FPeondd, STRICIIL.
HOST 4 ACOWNY FOST WTYONY JeDOAT oI dPeFngh.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819118057 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest position is m/s. (Take g=10 m/s?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
Qcollegedunias
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Question Number : 24 Question Id : 70819118057 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| meVE® 08 wOom ALY MeevD, 38 WIATN YT wom 30N FFDW), F AT,
Clalslelafinrleinld) nu% e EE‘}% AV3T wmmeed) 5: 1 wotRpmndtodndd, amsg’d mITY
neeod Sk . m/s. (g=10m/s’ 20w SahieRRD.)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819118058 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

e B,
[ Pl
r1{]' r5

where, a and  are positive constants. The equilibrium distance between two atoms will be
I d

2a \b
— 1|, where a=
5 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819118058 Question Type : SA Qcollegedunias
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Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819118059 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1

g T i Bt
Theelectric field in a region is given by E = [':L-'U 1 +—
5 5

A
Eyj ‘ % The ratio of flux of reported
/

field through the rectangular surface of area 0.2 m? (parallel to y-z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane)is a:b, wherea=___

[Here I ' if and k are unit vectors along x, y and z-axes respectively]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001
gcollegedunias
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Question Number : 26 Question Id : 70819118059 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g aAr o AN
2,000 BOORTOT AWFESI, befl Aedond. E = gLﬂ i % Eg IJ% 0.2 m?(y-z
x:s,ab'c; A@BROS0) m_u‘mm [Slewnkeninlein ﬁf'ﬁw :;.53 03 m? (x-z N:J,am; A@POTT)
QALRFD DG NYN YORE 330 IF CWIY a:bsNd. M0 a=__ .
(@9 1,] D3k A 1 yRRzo3ie DROIIDS 08 AONYR, TRODHI)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819118060 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 uF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
%108 H.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118060 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118061 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convex lensis cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118061 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Lo BARTHOT 20 cm T 10 cmBRTDEY 10T B, VoA WEHZ DIARTLHOT
woTe MW WO YLoRMINeiRTs, NWIZ MWARTE FoNWBRTY .
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes .
collegedunia:s

Answers Type : Range

~



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118062 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118062 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
LOm ROFY CWFNS Q7 Tyohody 1.0t YAVT LIRFH YHY MIBI, kV° dedod
©2O0RITNB0IRAT, 100°C 003 300°CH NTIRT WECRTHOIRTT JRBD O

nR (B9 n L0 SAOT JeeT Y KOLoDW, ARWWIT.)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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Question Number : 30 Question Id : 70819118063 Question Type : SA 2



Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point |, so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ Lo LB, @&
gives then null deflection at ]2. The value of L—l is E ,wherea=
2

Rh J;¢—60 cm—>
| S
B< Im >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118063 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Section Id :
Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Chemistry Section A

708191744
3

Online
Mandatory

20
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Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

20

80

Yes

1
7081911024

Yes

Question Number : 31 Question Id : 70819118064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :

70819159341, (&)

70819159342, (P)

{: o
70819159343, (©) gcollegedunlas
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70819159344, (D)

Question Number : 31 Question Id : 70819118064 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819159341, (&)
70819159342, (B)

70819159343, (©)

70819159344, (D)

Question Number : 32 Question Id : 70819118065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819159345,

70819159346, | 1e2

70819159347, B2

Hes®
70819159348,

Question Number : 32 Question Id : 70819118065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WEEE TFF AWLOIT WU, TEN SRLITLDHPNYY LAZLQW :
= e (A} ~ el e L M Q

Options : .
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Hes
70819159346.

€s

B
70819159347. =

4
70819159348, | €2

Question Number : 33 Question Id : 70819118066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; K.*ip(ABCN] =22x10"16 and K,(HCN) =6.2x10 0]

Options :
) 6
70819159349, 0-625x10

3 [
70819159350, 1-6 %10

70819159351, 2-2x 10710

5
70819159352, 1-9 % 10

Question Number : 33 Question Id : 70819118066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3 &, BROQWT DTTIRTY AgCN & ddexdodn x 87T, 18 IPOF)
. (FebeTn TemoFod) (Qm.ar Roderar gy S0dMTNYOTD TONEIA)

[B2 : K, (AgCN)=22x10"10 33 K,(HCN)=62x10""]

=

Options: Qcollegedunias
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1.6 x10—6

70819159350.
16
70819159351, 22 %107
; 5
70819159352, 19 %10

Question Number : 34 Question Id : 70819118067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Z |15

m

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption

directly proportional to P*. The value of x is :
Options :

70819159353, 1

70819159354, “¢T0

70819159355, *

70819159356.

Question Number : 34 Question Id : 70819118067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fom'Or whheedn NDRTFY, MARTL IBT 42009, sHipeERoD Fume [ L],

P*Ai de0 wMmicdmeid. Tmod s 3P0 ¢ .
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70819159353.

70819159354. 4

70819159355.

70819159356.

Question Number : 35 Question Id : 70819118068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819159357, AGvs T
70819159358, AH vs T

70819159359, AG vs P

70819159360.

Question Number : 35 Question Id : 70819118068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QYOTFTET Te0913Tw) JERHAITJID ¢

Options :

20819159357, AGvs T Qcollegedunias
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70819159358, AH vs T

70819159359, AG vs P

70819159360, (AG ~TAS) vsT

Question Number : 36 Question Id : 70819118069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
20819159361, KOs + H,0, — KIO; +H0 +0,

2 Z Z
70819150362, 12+ H20,+20H™ - A~ +2H,0+0,

y
70819159363, 2 THO0p +2H" =1, +2H,0

B 2
70819159364, Cl2t H20; = 2ZHCA+O,

Question Number : 36 Question Id : 70819118069 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3¥NT Aesdonyg oinm@ H0, 08 sgnrnteis Anasd, $9RTmNG ?

Options:
20819159361 KIO, + H,0, — KIO; +H,O0+ 0,

I+ H,0, +20H ™ — 21~ +2H,0 + O, Qcollegedunla

~

70819159362.



t
70819150363, 2 TH0p +2HT — 1, + 2H,0

y
20819159364, “l2 T Ha0y — ZHU+0O,

Question Number : 37 Question Id : 70819118070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B,Hg is :
Options :
70819159365, 1l B—H—B angles are of 120"

70819159366, The two B—H—B bonds are not of same length.
70819159367, lerminal B—H bonds have less p-character when compared to bridging bonds.

70819159368. Its fragment, BH; , behaves as a Lewis base.

Question Number : 37 Question Id : 70819118070 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B,H, moh ROCIRT Tewsomn :

Options :
20819159365, U8 B—H—B dpeaned 1207 =hdl.

70819159366, Woa B—H—-BRIOGAL Hug) P.Ome END,

70819159367, ~E% WOBNTH SBeedAwen sR¥om B—Hwopn® 38:0 p- Qco”egeduniag
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QWO Gon=etd, BH,, Sem® Tgndyeoamen SSFma)wb.
70819159368. S o

Question Number : 38 Question Id : 70819118071 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : CeO, can be used for oxidation of aldehydes and ketones.
Statement 1l Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819159369, Doth Statement I and Statement 11 are true

70819159370. Both Statement I and Statement 1l are false

70819159371. Statement | is true but Statement 1l is false

70819159372. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819118071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BN QT a’fsﬂ;'u’riﬂm QERD.

Teegl:  CeD, 3T, @ M) SERTNYR), VITRFRDRTLY LWTOILENAD
BewFll: EuSO, s m@em. ToReE) Lo TWO VTFRFFTTITNT.

HedT Tewdnvad, MR, §9R SREDT SoNdY TR w0IT, BORD.
Options :

70819159369. Teed 1 5.3. Zeed Il nx [OoImA.
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70819159370, =~ S o s

Seed ] TooInNTh =00 Ieesd Il Bh0.
70819159371. = =

Feot ] Sohs o0t Beed 1l 70 1.
70819159372. W

Question Number : 39 Question Id : 70819118072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options:

70819159373, V** and Cr"

70819159374, Cr* and Mn?

70819159375, Ni*" and Cu’

T 24 ~ 4
70819159376, e~ and Co

Question Number : 39 Question Id : 70819118072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3YNT 0I0oa WeeBNYY, TweT h:_ﬁﬁ?ua*‘ LTLAR) w0TE SHT 7
Options:
:I"E b & o, e, —_ 4
70819150373, ¥ % Cr

Crt =Hhad Mn2? .
70819159374, i Qcollegedunla
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Dk
70819159375, W~ #RE& Cu

L b
70819159376, [& = Co

Question Number : 40 Question Id : 70819118073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [I‘»'Il'.{(fl\l)ﬁ]4 and [F[}{Cl\]]{-’]3 , respectively are :
Options :

20819159377, @-sp” and paramagnetic

70819159378, 5P '@ and diamagnetic

70819159379, 457" and diamagnetic

32 T
20819159380, /" 4~ and paramagnetic

Question Number : 40 Question Id : 70819118073 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[Mn(CN)gJ* ~ 303 [Fe(CN)e]P~ ni¢ Xogteo @ 508c0n Zgemay g
Options :
70819159377, 4> X, TooEEROSe0D

70819159378, SV & T, BomwTOSe0D
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70819159380, SV 4 T, TTRTOLOD

Question Number : 41 Question Id : 70819118074 Question Type : MCQ O

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819159381, Both Statement | and Statement Il are true

70819159382. Both Statement I and Statement 11 are false

70819159383, Statement 1 is true but Statement 1l is false

70819159384, Statement 1 is false but Statement 11 is true

ption Shuffling : Yes

Question Number : 41 Question Id : 70819118074 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

391 QO Teganva), AR,

BeFl: OTTAFDT PONTIY SCRODITY GInT WITRL0I WO TN
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Zeedl aHhad eI HTRER TO ge.
70819159381. =

70819159382, Trrauwus) Eeen M Srctal Samf

20819159383, 2t¥81 MO vd =TT Fewé 1l TTWNT.

70819159384, %t¥E1 STNT STU Jevd 1l IO 1.

Question Number : 42 Question Id : 70819118075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819159385, 20-33
70819159386, 23.33
70819159387, 63.53

70819159388, 21.63

Question Number : 42 Question Id : 70819118075 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1.80 mosraE) stnT gog Bocwndsy) (C,H O,) Romnstr Bha 2.64 maram, CO, 23
1.08 messr e, Redd (H,0) Samam. ‘
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70819159385, 20-33

70819159386, 93.33

70819159387, ©3.53

70819159388, 21.63

Question Number : 43 Question Id : 70819118076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idr_-ntif}-' A in the given chemical reaclion.

_~CH;
CH Mo,O o
2 CH, 203 RN
L . ~~ 7 773K,10-20atm  major product
3
H‘CHE'/ \“CI—I;
Options :
708191593809. :
: CHs,
70819159390.
70819159391. :
: .CHj,

70819159392.

[
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Question Number : 43 Question Id : 70819118076 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BRLTNE TRRORT Aarestnd ‘Aol @

e |
E::h
%Jl.
&

_~CHy
CH Mo,O o
2 CH, 243 & 5
AT, ~ 7 773K, 10-20 atm Dm0 YU,
~cn,” “SCH,
Options :

708191593809.

70819159390.

q
o
o4

70819159392.

Question Number : 44 Question Id : 70819118077 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[
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Identi_f}-' A and B in the chemical reaction.

OCH,
—HE o [A] Nal = [B]
(major) dry acetone (major)
NO,
Options :
OCH, I
Cl Cl
I\ — H =
I NO
70819159393, L f
OCH;3 OCH,4
Cl I
A= B =
NO, NO,
70819159394,
OCH, 1
A —_— B —
Cl Cl
NO, NO,
70819159395, -
OCHj, OCHj;
Cl
.ﬁh = B =
Cl
70819159396. N e

Question Number : 44 Question Id : 70819118077 Question Type :

Is Question Mandatory : No

M
[
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Correct Marks : 4 Wrong Marks : 1

TUToORT MeResTrRtY Am:g Bmm% FOWI&ROAD.

OCH,
HCl -
A gy N
(Bena) P SRS oy
NO,
Options :
OCH, )
Cl Cl
.n'ﬂl. - H —
NO
70819159393, NO, 2
OCH, OCH,
Cl I
A = B =
NO, NO,
70819159394
OCH; 1
A = B —
Cl £
NO, NO,
70819159395.
OCHj,4 OCHjy
Cl
h = B —
Cl
70819159396. e D

[
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HO*, A
_ 2) SOCl,
CH;CH,CN > ?
3) Pd/BaSO,, H,

Options :

70819159397. S

7081915939, (CHCH,C0),0

70819159399, “aCHCH;

70819159400, —HaCH,CHO

Question Number : 45 Question Id : 70819118078 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3YNT THoodd 3ohodg D ¢v3Sodn
1) HyO+, A
2) sOCl,

CH4CH,CN > 7
3) Pd/BaSO,, H,

Options :

70819159397. S e

7081915939, (CHiCH,C0),0

70819159399, “H3CHCH;

70819159400, HaCHCHO

: MCQ Option Shuffling : Yes

[
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Question Number : 46 Question Id : 70819118079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde ?
Options :

Pd(11)/ Cu(II)

CH,—CH,+0O
2 2 2 H,0

70819159401.

CH;CH,OH -

70819159402.

i) DIBAL-H
i) H,0

CH5;CN
70819159403,

u
CH,CH,OH W
70819159404. o

Question Number : 46 Question Id : 70819118079 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FYNT ReNCFTRANTY ClnDUY LARIER,E oty ?

Options :
Pd(II)/ Cu(Il
CHEZCH2+DZ { ]‘f { j
70819159401, H0
i CI’GB—IIESD;L
CH4CH,OH >
70819159402.

[
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i) DIBAL-H

CH;CN —
ii) H,O
Cu
70819159404. o

Question Number : 47 Question Id : 70819118080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
A= B= =
NH;, NH,

OH NO,
Options :
70819159405, ‘* and B only
70819159406, = ™Y
70819159407, © and Conly

70819159408, B only

Question Number : 47 Question Id : 70819118080 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[
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03308 TOOME(M) FReRONTT Twnerder Hod BUFT BE8 @ Q@G
TRBDD/ ?

NH;, COOH
Options :
AT BIRG
70819159405. -
70819159406, & =992
70819159407, © 2o C @22
70819159408, ° %

Question Number : 48 Question Id : 70819118081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following reaction/s will not give p-aminoazobenzene ?
NO,
i) Sn/HCI

i) HNO,
iii) Aniline

i) NaBH,
ii) NaOH
iii) Aniline

i) HNO,
o
ii) Aniline, HCI gcollegedunia%

~




Options :

70819159409, “* only

70819159410, < LY

B only
70819159411. 1

70819159412, A and B

Question Number : 48 Question Id : 70819118081 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3¥NT 0djom F0DOIN(ML) p-velHrvrntiones ADJOY ?

NO,
e i) Sn/HCl _
ii) HNO,
iii) Aniline (20957)
NO,
. i) NaBH,
E ii) NaOH
iii) RO
NH,
i) HNO
C. i) y
if) 2297, HCI
Options :
A DT,
708191594009. i
C &g
70819159410. 2

70819159411, D 5% Qcollegedunias
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70819159412. SRR

Question Number : 49 Question Id : 70819118082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :
70819159413, buna-N is a natural polymer.

20819159414, Buna-Sis a synthetic and linear thermosetting polymer.

70819159415, Neoprene is an addition copolymer used in plastic bucket manufacturing.

20819159416, 5}-’11&1&515 of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118082 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B NI ol Teed ROCIBNT ?

Options :

70819159413, X379 QT WO TYTONT WIEF (TWod:T') SNT.

20819159414 LOT-DA WO TCIPOAT B, AUFTeDOD YUTPT, WIELFTRNT.
70819159415, “CMRKT womk FOFIT ATWEEFIONG, TpAT Wik IodwOIobhg wwmcleehRIT.

INT-OF SOIROTY INWI BIHTI BT TS, Qggl!ggfg}:mg:

~

70819159416.



Question Number : 50 Question Id : 70819118083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the gl}-'cosidic If_nkago between galactose and glucose is present in lactose ?

Options :
70819159417 C-1 of galactose and C-4 of glucose
70819159418. C-1 of galactose and C-6 of glucose

70819159419. C-1 of glucose and C-4 of galactose

70819159420. C-1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118083 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CRBLETIYOR MHEACT B, MR TY TR [ BRART 8R08 cIRJW ?

Options :
QTUBRE T 1 23 dness C-
70819159417, TRTPRREAE C-1 0, Thaeers C-4
= BT (e TF 1 mnmn T e = e
70819159418, MR8 TE C-1 =0 1Rspem‘s C-6

e e
70819159410, EEEERE L] w0eh BaSonefTs -1

nieeTs C-1 shad Mmoudersa C-6
70819159420. - G T i

[
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Chemistry Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191745
4

Online
Mandatory
10

5

20

Yes

1
7081911025

Yes

Question Number : 51 Question Id : 70819118084 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next

end point. The weight percentage of I\IELE(CO3 in the mixtureis

the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

. (Rounded-off to

Question Number : 51 Question Id : 70819118084 Question Type : SA Q collegedunia:s
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Correct Marks : 4 Wrong Marks : 0
fon) w@ wHGNdeodt 04 MErEm, NaOH 3 Na,C0; 203pad, IZFmen

1o HOL 243 2mesi0es (T0dathA OmaRT (KE08) SRR, Lodm RomaTg

175 ndesiad HA degomden. s0ameod adgo® 800w’ 2040 30300 ©0dm RomITY
©re 1.500¢ HAma: detoogdm. agrpemgod NayCO;0d Jet@md 35055
(RENELT TR 083 TREFNATA)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118085 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in “C at which the car tyre will burst is _ . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118085 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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27°Codg ®OF Boho R 35 psi I, JEAHED CAOTW, PFERBCNG. 20D Bed
40 psi augcsm% wplXinte a%ﬁa*‘ A9 (WAF SOFD) BRTVID®. O &a‘f:u.u'* 2603
ZoZang °C  (AENELT TREFOTY, TRFTIRTA)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118086 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol "%, The magnitude of AH,qq for the reaction

o 3 _ _

35 kJ. (Rounded off to the nearest integer)
[Assume ideal gases and R=8.314 ] mol "1 K 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118086 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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AEEE (NH)CNy) 303 otud'd 30h0d@, o ®Oe00tr sy JEA0 DA
NHZ NHFS AU (=030% u_ﬁ)m 4 o) 208 ) 742,04 k] moI 1eﬁm ﬁ%ﬁﬁ'.‘s
S0eTTERTYoR _&Hma VL) Q" (k39D) . (Reded@ mmFoﬁ'u; TROFNRTA)

[#0%F wRondom Ay DI R=8314]mol 1 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118087 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A, B is 60% ionised. The boiling point of the solution
at 1 atm is . (Rounded—off to Lhe nearest integer)

[Given K}, for (H,0)=0.52 K kg mol 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118087 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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A,B; 2@, mr ’ (@Jﬁuc fJ B0 1 Seene® xdeod mFHng) 3eF@ 60 U::
Slown E‘zfaumroam mna:n TR RO Womdey K (Raead mﬁmFO'ﬁﬁ
TREFNRTA)
[@2 : K, (H,0)=052K kg mol 1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118088 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In basic me:ﬁliuml{_'rull2 oxidises .52{}32 to form lfﬁ{}f and itself changes into .(_'r({}l )y

The volume of 0.154 M .Crf.}f required to react with 40 mL of 0.25 M .52032 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118088 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T enecd SRGHTY, Cr0,2” ‘1'2032 DD, CIAFA 50,2~ &h 308R0% oD Cr(OH.

A WM. 40 s:u:@m,; 0.25M, azua Be3 DR wa;m 0.154M CrO
m3R) WY . (Renead Temrosd Tewriedd) gﬁo!lesgdec!u':'fa
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118089 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T 15 given below :

T slope =—10000 K
log k
1/1" —
The temperature at which the rate constant of the reaction is 10 el . E

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 10> s ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118089 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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aA +bB — «C+dD, A0eTORRTYN, log k vs 7 MyFa, $97 A@RNT.

T slope = —10000 K

log k

]/T s
3obon ert AohT0ERY 10715~ wodennd =aT) (KY) . (RERELT TRFEIFOTY
TREOFNRPA)

[33 : 500K et dodzeossy 1035~ wnd.]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118090 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na, is 495.8 k] mol "1, while
the electron gain enthalpy of Br is —325.0 k] mol I”Given the lattice enthalpy
of NaBr is ~728.4 k] mol~!. The energy for the formation of NaBr ionic solid is
(-) x 101 kJ mol 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

[
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Question Number : 57 Question Id : 70819118090 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Na( }c.aom Na* 2oimbdren Yol 20medod 4958 k] mol lshd., Bra QORTNT
womjm 325.0 K mol ~ 93, NaBrd 08 aogedodn —728.4 k] mol ~aom QeBTT,
NaPBr bOCumE*" ﬁa'a'isi:% 303 OMTYoD E@m( | S %1071 k] mol 1.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118091 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/ are inert to hydrolysis is
(A) BF, (B) SiCl, (€) Pd; (D) SF,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118091 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TYNIPNTY, BOLPEIN &wa (EIRD,) IReB TWEF(MY) A03000
(A) BE, (B) SﬂCI_ (C) PCL (D) SF,

Response Type : Numeric Qﬁo!lgetgdeiluﬂli
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118092 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following chemical reaction.

CH = CH 1) Red hot Fe tube, 873 K P
T 2) CO, HC, AlCl,

The number of spz hybridized carbon atom(s) present in the product is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118092 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
3¢NT CRORT FCTTRB[I, TONSA.

1) sosmn w03 s BRYE, 873 KTY
CH = Y033
2) CO, HCI, AICl,

CH

e330DY Tor sp? WOBTRT TWFT TUSIeDNE FoL,000

o

Response Type : Numeric
Evaluation Required For SA : Yes Qﬁo! lﬁ%?ﬁ'“ﬂ[i
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118093 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
™Solvent front
Be A
2cm
5cm
Ae 4
2cm
. S I — v
A :
P4 = Base line
Spot

Fig : Paper chromatography for compounds A and B.

the calculated Rf valueof A x1071,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118093 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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NERTLH WBR& S0, wvTodeeha.
e

\ TS mRE (wPows) Tow
Be
2cm
5cm
A-
[2 cm
L e RSP Sy S L
Dl
mgé Y gt ss

233 : AP BROOINENG TN Weer TedT.
Aok R aPozy ____ x10 £ il
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId: 708191746
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 7081911026

[
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ : N — Nsuch that f(n+1)=f(n) + f(1) ¥ neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819159431, If fis onto, then f(n)=n ¥ neN

70819159432, [1s one-one

70819159433, If g is onto, then fog is one-one

70819159434. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118094 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gt (Let) 309 f, g : N — N&odt fin+1)=f(n) +f{1) ¥ neN 2D ¢ (¥) TmGT 3903
odRE TeTICW FTNGY 7

Options :
20819159431 f&) @Wewrz TMBT f(n)=n"V neN.
) WOTN=-2.,0T0 -one).
70819159432, /% i
g O e BT fog ) OTN-2,0T0.
70819159433.
Do LOTN-WOTH SHT ‘¢ &) LOWI-LOTD. 13:
rostsisoasa, 3 & A collegedunia
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Question Number : 62 Question Id : 70819118095 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let the Iinos'{z —-i)z= (2 + i)z and '{2 +i)z+ (i-2)Z - 4i=0, (herei?=-1) be normal
MadmbCJHMHmbﬁ+f+1+f=[}Ew%mummmdmhﬂﬁmnMHMMﬂm
Options :

70819159435, 32

1
70819159436, 2¥2
3
70819159437, 22
k-
2

70819159438.

Is Question Mandatory : No
i=0, (%= -1)shdg

Question Number : 62 Question Id : 70819118095 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 4 Wrong Marks : 1

womheg Seadoto (2-i)z= 2+ )7 DB 2+ i)z + (i - 27 - 4
wom B33 CTY ¥roonnds. Homas, iz+ 2+ 1+i=0 28 Cod A3rdeasodnnd,

ToMmEU YT0 R CRFTNG 9

Options:
70819159435, V2
o
22
Qcollegedunias

70819159436.



%) '
£ ‘ 0
3]

70819159437.

|?51| ’1"‘.

70819159438, ™

Question Number : 63 Question Id : 70819118096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
18

Options :

2

70819159439.
70819159440.
70819159441, 4

70819159442, 0

Question Number : 63 Question Id : 70819118096 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 Tpmeros kK ol opd wRmmEEmN 2203k - 1) x+8k2-7>0,R & e8 17t SRIAT -
Options :

70819159439, 2

70819159440,

4 Qcollegedunias
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70819159442, U

Question Number : 64 Question Id : 70819118097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b ] o o
) ™ L ET. St o
<. d=—.x= lCﬂS "U,y= lﬁm " andz= S cosz"ﬂ.sinz”d: then :

n=0 n=0 n=0

Options :

70819159443, XY 2= (x 1 ¥)z

70819159444, W 1z=(x 1Y)z

70819159445, Y tyztzx=2z

70819159446, V7 =4

Question Number : 64 Question Id : 70819118097 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o0 o
0 = L * _2n 1L i X
.00 BeS0<h, p<s, x= 2,08 0 y= 3 sin¢ 980 2= Y cos™0.sin™"$.
n=( n=(0

ToMeR0

Options :

70819159443, XY 2= (x 1 ¥)z
70819159444, W 1z=(x 1Y)z

Qcollegedunlas
‘Il.lr | l.fz | ZX —Z India’s largest Student Review Platform
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70819159446, V7 =4

Question Number : 65 Question Id : 70819118098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If Rolle’s theorem holds for the function f{x)=x"~ax?+bx -4, xe[1, 2] with |— | =

then ordered pair (a, b) is equal to:
Options :
70819159447. k7 k)

70819159448, >~ 8)

70819159449 S

(—5 —8
70819159450.

Question Number : 65 Question Id : 70819118098 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CRY Tabeodsy, & I {lumlmn]'ﬁ TRODT, LOT =Y

flx)=x3-ax?+bx-4, xe[1, 2], An3A |_\ 0 578 BRI Heed (a,b)2TT AW :
Options :
70819159447. - 8)

70819159448, O )
Qcollegedunlas

~



70819159449, S

(=5 —8
70819159450.

Question Number : 66 Question Id : 70819118099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. s n &
lim | 14 5 is equal to :
n—x= n-
k. )

Options :

70819159451, 0

B3| =

70819159452,

70819159453, ©

70819159454, !

Question Number : 66 Question Id : 70819118099 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r ] y T
L+ — + o F—
lim | 14 < L Snlkds SRS 9
Nn— n- o
', )
Options :

70819159451, 0 Qcollegedunias

~



k3| =

70819159452.

I'".'||-—".

70819159453.

70819159454, !

Question Number : 67 Question Id : 70819118100 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the fntr_-gral

do is :

Jsinl]_sin 20 {sinﬁl] + sinto A sinzl]] V2sin®0 + 3sin%0 + 6
1 — cos20

(where c is a constant of integration)

Options :

3
— [9 2sin®0 — 3sino 6sinzl]}2 F ¢
70819159455.

3

s [9 Ecnaﬁll 3(:05'4!] 6{:052“-‘5 F ¢
70819159456, 18 '

: =
_i ['l'l 18sin°0 + 9sin*0 lﬁinﬁll}?— F ¢
70819159457, 18
3

_i {11 18cos?0 + 9cos*o 2{::.";:?»‘{’[]-‘E tc
70819159458, 18 * '

Question Number : 67 Question Id : 70819118100 Question Type : M
Is Question Mandatory : No Qﬁo!lgetgdeiluﬂli

~



Correct Marks : 4 Wrong Marks : 1

& sl TP,

do 238030

J-smu.sm 20 (sin®0 + sin®0 + sin20) y2sin0 + 3sin20 + 6
1 — cos20

(B c OWROT 3 T07).

Options:
3

: 25in®0 — 3sin?0 asmzuF FoC

70819159455, 18

3

i [9 2c0s’0 — 3coso 6(:052[]}5 FC
70819159456, 18

3

2 [11 18sin20 + 9sin*0 1@‘"’(]}5 b e
70819159457, 18

3

.i [11 18cos20 + 9cos?o ZCGSﬁl]:P FC
70819159458, 18

Question Number : 68 Question Id : 70819118101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1

The value of J‘xzelxJ Jd:f , where [t] denotes the greatest integer = t, is :
-1

Options:
e+ 1

70819159459, 3

1
70819159460, 3¢

[
gcollegedumas
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3e

e+ 1
70819159462, e

Question Number : 68 Question Id : 70819118101 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1
[x?ekax, g 1rtosg gemer B, Reesn < tesdoms -
-1
Options :
e+ 1

70819159459, 2

1
70819159460, ¢

'r_-fl

70819159461, ¢

e +1
70819159462, e

Question Number : 69 Question Id : 70819118102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

% |
7 dx ¥ 8, then this curve also passes Lhrough the point :

x-12
Options : Qcollegedunias
India’s largest Student Review Platform
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70819159463. @, 9)

70819159464. 2:3)

70819159465, > %)

70819159466, (4 4)

Question Number : 69 Question Id : 70819118102 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

WO WITEHOW DROT RRVT Tl BRTT W) IIFIT VRO oRFTe VoW

.
xy) o ¥~ 4 6 B TEdesdol AT LOOF Hed TIDFRIT,
y) ol ¥~ 4+ ¥+ 8 umd 3 Sgdeiond T WO Hed TIMTRTHIT
X =2

Options:

70819159463. (4 3)

70819159464. 2:3)

70819159465. > 4)

70819159466, (4 4)

Question Number : 70 Question Id : 70819118103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :

Options: Qcollegedunias

~



. — A2
70819159467, (¥ ~4)"H(y +2

- 2
70819159468, (* 2
70819159469, (X

70819159470, (*

Question Number : 70 Question Id : 70819118103 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oesl x—y+1=0T 200 (3,5) T T@Lowzy) IPHT clRYTTHE ?
Options:

70819159467, &

i 2
70819159468, (¥ 2
70819159469, (¥

. 2 9
70819159470, (¥ ~2)° 1+ (y—2)

Question Number : 71 Question Id : 70819118104 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parahola yzzﬁx which is porpendicular to the line 2x 4 y=1.
Which of the following points does NOT lie on it ?

Options :

©, 3) .
70819159471. collegedunias

~



70819159472, (6 0)

70819159473, (> 4)

(4, 5)
70819159474,

Question Number : 71 Question Id : 70819118104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATFI, W00 i =61 HFODTIHIT.  EW Tebn 2 +y =1 VOWTNG. TeMET

O 8 FFNT 0IRD WOTNY e ATWMNG ?

Options :

".';
70819159471. k9.

70819159472, =&t

70819159473, (& 4)

(4, 9)
70819159474.

Question Number : 72 Question Id : 70819118105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"y o) 2 2

“

< 1
If the curves, L | ]’;— =1 and ? | ’I’E = 1 intersect each other at an angle of 90°, then
a )
which of the following relations is TRUE ?
Options :
70819159475, @ tb=ctd :
collegedunia:s
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70819159476, @ b=c~—d

c+d
b

ab =
70819159477. i

70819159478, @ ¢=b+d

Question Number : 72 Question Id : 70819118105 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 2 S D
Swdedne 1 + L = 1abad — + ¥ i
= a b g d

I FYNT 0l TOoWOTN AHRNT 9

90°3Re70Y HUATmN ebRTRNTY STT

Options :

70819159475, @ tb=ctd

70819159476, @ b=c—d

70819159477. i

70819159478, @ ¢=b+d

Question Number : 73 Question Id : 70819118106 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations

l4+m-n=0and I2+m2-n?=0. Then the value of sin*a + costa is :
Qcollegedunlas
India’s largest Student Review Platform

5
70819159479, 8 -

Options:



| W

70819159480.

M| =

70819159481.

| s

70819159482.

Question Number : 73 Question Id : 70819118106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QD Teny WHD 8ReIY o WATY. ©T0 FTTT IRAT BDETTD 14 m—n=03H)
e . e o 3 e - ﬁl Ly e o
2+m?-n?=03%, PORST. TenmeaG sinta+costa T SPY[eD 9
ey = o

Options:

®| W

70819159479.

ool W

70819159480.

b =

70819159481.

| G

70819159482.

Question Number : 74 Question Id : 70819118107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegeduniag

~



The equation of the line through the point (0, 1, 2) and perpendicular to the line

- oot WU G 5 L O

2 3 2
Options:
x_ ¥ | 2
70819159483, 3 4 3
* _ ¥ I:z 2
70819159484, 3 4 3
-
70819159485, 3 4 3

70819159486, 2 4 3

Question Number : 74 Question Id : 70819118107 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

zmmmnmwa&ﬂmxmmﬁ@mme@:3)1:”;1:271m5ﬁ@mmmd:
Options:
x_ ¥ | 2
70819159483, 3 4 3
x _ ¥ | 2
70819159484, 3 4 3
.f T
70819159485, 3 4 3
E o=, Ea .
70819159486. 3 4 3 Qcollegeduma
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Question Number : 75 Question Id : 70819118108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
When a missile is fired from a ship, the probability that itis intercepted is 7 and the probability

mmﬂmnmﬂhMmmemQM@WmﬂmHHmmHMmmmmLmZ.H&mmmﬂﬂmamﬁmd
independently from the ship, then the probability that all three hit the target, is :
Options :

1
70819159487, 27

oo | =

70819159488.

| W

708191594809.

W | 02

70819159490.

Question Number : 75 Question Id : 70819118108 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TERNT gﬁ:r‘maﬂ TodaTon & TooinA ;mg i:s* Sy e evim! oo,

2

TLDR HOPBECDS I:mm Ha&zénf;a:%, TRNVOT LROOoWI=oN TeOATT WHRW THOOD,

TLEOMT Rogmnecnd

: 1 .
= collegedunia:s
2 r India’s largest Student Review Platform

70819159487. £

Options :



0o | -

70819159488.

| W

708191594809.

EaY

70819159490.

Question Number : 76 Question Id : 70819118109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The coefficients a, b and ¢ of the quadratic equation, ax? + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819159491, 36

70819159492, 54

=]
-2

70819159493.

5
70819159494, 216

Question Number : 76 Question Id : 70819118109 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 Qcollegedunias
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OFF860D anegteg) ax” +by +c=0 HEOEY a, bR o7, QACEIT WROT G fevvantiial
TG0 B8 Rog@Aeond BinesTRd RO TOIDRTTNTLD :

Options :

70819159491, 6

70819159492, 54

70819159493, 72

70819159494, 216

Question Number : 77 Question Id : 70819118110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 0 = [0, 27] for which sin 20 + tan 26 > 0 lie in :

Options :

: T ) 3
[],—| w 7r,—|
70819159495, ~ 2/ |\

. ™ T 3 Y
B —f = == i
70819159496, * */ SO 4 B
() e
[D’ > v (—, —1 u [’:T,
b EJ \ 2 —1-/' |
70819159497.

{[], EW L
70819159498,

[
gcollegedunlas
India’s largest Student Review Platform

~



Question Number : 77 Question Id : 70819118110 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B e @d0c
Options:

(o,
70819159495. *

i
|U,
7081915949¢6.

70819159497.

i
]n,
70819159498.

[0, 27] 3RNTFY CIRFYTT 8RS sin 20+ tan 20 > l'jemr_:i‘zi 2

T ) ( 37 )

21 s |7r,—

2 ) \ 2 )

EZ] (= 2 {EEI EEEIW

4) 25 TS

Tr ) T 3 7

E,J - |E TJ |Ti' 3] ,'|

T ) T 3w ( e ) ( 37 ;Frw

Al R L U
" / ! J L

Question Number : 78 Question Id : 70819118111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :

Options :

70819159499, 24

70819159500, 20

70819159501, ~©

70819159502. 1

[
Qcollegedunlas
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Question Number : 78 Question Id : 70819118111 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xyz =24, STON 2D TOLT HIo3T PHWFOTT WRIFY (v, Y, 2) :
Options :

70819159499, 24

70819159500, 30

70819159501.

70819159502, +°

Question Number : 79 Question Id : 70819118112 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30" (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower is :

Options :

70819159503, 10

10(3
70819159504, 10(¥3 + 1)

70819159505, 103

70819159506, 10V3 ~ 1)

[
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Question Number : 79 Question Id : 70819118112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ARETRTT DOCWOT &) DHRDL FNULT %TEROOA 8.0 ANFF Wom ‘A" 0B

ARETDTT 33 BOMT .om dreerdodm, DesMIS. & VOITY WDAI FES hod

o

dredod BNROT LUOMT Ry 30° 8T8 (HHIT 238 Joredxd) 20 Aowny
J03T NReITT 39T 33N (00T mgpg) 13OATE, drerdad Roth ‘B Ei:% ta,m.ga g2l
3NV Boedsy) 45° STT, Beerdodd ‘B LODHARCT RLeTTT IYIL, IWTW @ﬁmm%:s
e

Options :
70819159503, 10

10(/3
70819159504, 1083 + 1)

70819159505, 10+/3

70819159506, 10(v/3 — 1)

Question Number : 80 Question Id : 70819118113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :

Options :

70819159507, * — (A — B)

70819159508, * — (A v B)

70819159509, & — (A A B)

70819159510, * 7 (A < B) ]
collegedunia:s
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Question Number : 80 Question Id : 70819118113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& Fewdod A - (B— A) ZSsSmnG

Options :

70819159507.

70819159508

70819159509

A — (A — B)

A— (AVB)

A (AnB)

70819159510, 7 (A< B)

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191747
6

Online
Mandatory
10

5

20

Yes

1
7081911027

Yes

Question Number : 81 Question Id : 70819118114 Question Type : SA

[
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Correct Marks : 4 Wrong Marks : 0
. -
l
0 tan' _,]}| B L

P a4
If A= and (I, +A) (I, A) l:{b ’

R

tan' %| 0
.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118114 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.f”\,
0 tanl —
\2 )

O =Y A=

l d
DB (I, +A) (I,- A) 1:L

b 5 o

(0

(0
tan1 -
2 )

SINADIN)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

b

d

], TOmTT 13(a +1

Question Number : 82 Question Id : 70819118115 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

], then 13(a®+b?) is equal to

)

[
Qcollegedunlas
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=
(]

R
(]
it

Let A= (|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.

ry
If AE:IH, then the value of 4 1,3 r2is

[a]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118115 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ry z
GOWIERY A=|y z x|,R9 x, y W3 z AT TOL,ND x+y+z > 0803 xyz=2.
Y e p i ] -
Z Xy

A2=1, momEd, 9@0 BSow L+ .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118116 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[
Qcollegedunlas
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If the system of equations

kx+y+2z=

Ix—y—2z=2

2x — 2y —4z =2

has infinitely many solutions, then k is equal to ___ -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118116 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
= :iu:dﬁmr::t TeResdem).
kx+y+2z=
Ix—y—2z=2
2x—2y—4z=3

©wDo3ToN wEes TOTONYN, BRODTE. =T

-

cls
s
=
21
%Jl'
&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118117 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the

1,2,3,4,5,1f the repetition of digits is not allowed and numbers are divisible by either .

i collegedunia:s
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118117 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

EOETWQ_ 1, 2,3 4, 5803 100 3:39‘ 1000 % a@aE wosd NOUJ'WJFL 33@ 3:3' (e
@ﬁmmgd W FOLMK ©FIT 3 00T T 5 00T wfza_;rﬁm w.-ﬂ-‘ﬁu W)
mogne moyodw .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118118 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A}, A, A, ... be squares such that for each n=1, the length of the side of A equals the
In:-ng_f_h of dmgonal of i& L If the length of A is 12 cm, then the smallest value of n for

which area of A, is Ie% than one,is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText Qcpllegedunlaa
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Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118118 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
TI0R0TER n=1 AT, A) Ay A, ... N0 INFARNS A 3 RIVAT 0WTF) A,

S SOFT YOTE A@MNG. A 008 12em 70 A, § QARFE) LOTIOT TRUOTRNLD
n § S HOodw :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118119 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=2x+1)-3x + 2|4 r2+x-2,xcRis
not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819118119 Question Type : SA
Correct Marks : 4 Wrong Marks : 0 Qcpllegedumas

~



€ NOmAT FOLOI wvIF, (function) B f(x) =|2r+1| -3k +2[4 x>+x-2, xe R
TIFIMFOY STT

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118120 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of s unity and it has

fx)

extrema at x= ~1and x=1.If lim —— = 1, then 5-f(2) is equal to
—0 yx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118120 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
©0d30DY 1= -1 DI, xr=1 BLCODRT B 2° 3 ATMEBI, 2O, WINROB
x 39 6 F¢ Jeegod wm XA f(x) SHTY 112{1] f{—? =1 ST 030 5-f(2) i ASTD
=0y

Response Type : Numeric

Evaluation Required For SA : Yes Qcpllegedunias
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118121 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819118121 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AT WA 3AMNT 0ITY, MF LoD B[RO VOMAICT FZOAIW. DI HTE
FERnE TAYET WomAT IDI WHOBD MPNH FIRI FIPoT) ST, 8T
At Z3m3

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.001 Qcollegedunias
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Question Number : 89 Question Id : 70819118122 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

J3x y — 4l J3) k =0 is a conic, whose eccentricity is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118122 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Teadrisd (V3)kx + ky — 443 =0 @) 3 x -y - 4(y/3) k =0 3230 Dedoohdomd

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819118123 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— A A -
C

e A .Y A = .Y A y x M
Let a =i+2j-k b=i~-jand ¢ =i~ j~ k be three given vectors. If 1

- — —5 — - = - = °
. ;
vector such thatr ¥ a = ¢ X aandr- b =0, then r- a isequalto . Qcollegedunlaq
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